CS 3 (Ryan)
Summer 2001
Lab Assignment 9


Goals

This lab is intended to give you practice with the higher-order functions every, keep, and accumulate, and with using lambda to define functions.

Preparation

Read chapters 8 and 9 in Simply Scheme. Without using the computer, answer exercises 8.1 and 9.1 from Simply Scheme, and show your answers to your lab TA at the start of lab. (Each partner should do this.) Also, write down three things you learned from this lab and give the list to your t.a. You will not get credit for your lab unless you do this.

Exercise 1 (1 checkoff point)

Verify your answers to exercises 8.1 and 9.1, and copy the results to your checkoff windows. Make sure you and your partner understand the reasons for each answer. Use the Replacement Modeler to check any answers you’re not completely sure of.

Exercise 2 (1 checkoff point)

Do exercise 8.2 in Simply Scheme, splitting them between part​ners as follows. One partner should do parts 1, 4, and 6; the other should do parts 2, 3, 5, and 7.

	Partner 1
	Partner 2

	( ___ vowel? 'birthday)

( ___ ___ '(little child))

( ___ + '(2 3 4 5))
	( ___ first '(golden slumbers))

( ___ '(golden slumbers))

( ___ ___ ( ___ ___ '(little child)))

( ___ + '(2 3 4 5))


Compare notes with your partner, using the Replacement Modeler to check any answers you’re not completely sure of, then copy your answers and verification of their correctness to your checkoff windows. 


Exercise 3 (1 checkoff point)

With your partner, provide a good function name and a good comment (i.e. a description of the domain and range) for each of the following functions. (The functions appear in exercises 8.3 and 9.3.)

(define (h c d)


(c (c d)) )

(define (i e)


(/ (accumulate + e) (count e)) )

(define (let-it-be sent)

; Warning: obscure Beatle reference here!


(accumulate (lambda (x y) y) sent) )

Make sure you and your partner agree on the wording of the comments. Copy the comments, together with the results of tests that support them, to your checkoff windows. 

Exercise 4 (1 checkoff point)

One partner should do exercises 8.4 and 9.4 in Simply Scheme; the other should do exercises 8.5 and 9.11. Then switch places and test each other’s code. Copy the function definitions and tests into your checkoff windows.


